(x =2y - 32)%2 Z75te] xofl St WA= 2 H2|5tH?

D x? +4y? + 972 — 4xy + 12yz — 62x
@ x% —dxy+4y* — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y? + 12yz + 922 + (—4y — 62)x + x?

® 972 + 4y? + x?



O flx) = x3 - 202 + 3x - 45 A x + 12 YH3& 1Y
U 25 ot ?

® -10 @ 10 B -4 @ 4 ® 0



3. oA 2x® +ax® + bx+ 3 o] A 207 — x -3 0= HpFo] ol
o, a+b o] T2 7

@ 3 @1 ® -1 @ -2 ® -5



4. FOIA P +ax-2,8° +3x+b 9 HHFAFTEx- 1L W, F A
a,b® ¥ a+ b2 F2?

@ -3 @ -1 @0 @1 ® 3



5. A AL agbcoA s a+b+c=2,a>+b*>+c* =6, abc = -1
Ao, ¢® + b + 3 9] Fh2?

® 11 @ 12 ® 13 @ 14 ® 15



6. oA f(0)E LAY ax + bla # 0) 22 RIS o] H-2 Q(x),
U™z Rolat & uf,
)Cf(X)% ax + b= L]-T,L:— ]4—{]11]%_ -?-ﬁ]—?ﬂ()

® R @ aR 3 bR @_SR ©§



@
@

m o
e D



O3 262 —xy—y? —dx+y+25 ¢l

St

s

qe9

O (2x-y-2)(x+y-1) @ 2x+y+2)(x-y+1)
@ 2x-y-2)(x-y-1) @ 2x+y-2)(x+y-1)
® 2x+y-2)(x-y-1)



9. The F x4t - 1L - 0r + 189 A157} ok AL

D x-1 @ x+1 ® x-3 @ x+3 ® x+2



